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QUESTION 1

Your Manufacturing Organization makes bicycles and ships 50% of its output directly to large chain retailer customers.
Your organization also ships products to your Distribution Center so that it can fulfill many other smaller customers. Your
Manufacturing Organizations uses Oracle SCM Planning Cloud, but your Distribution Center does not. 

Which setups should you recommend to the Manufacturing Organization? 

A. In Edit Plan Options, ensure both organizations are included in plan scope, and select, \\'include transfer orders\\'. 

B. Map the Distribution Center as a customer in Maintain Supply Network Model; Select \\'include transfer orders\\' in
Edit Plan Options. 

C. Map the Manufacturing Organization as a supplier in Maintain Supply Network Model; Select \\'Include transfer
orders\\' in Edit Plan Options. 

D. Select \\'include transfer orders\\' in Edit Plan Options\\' advanced supply options. 

Correct Answer: B 

 

QUESTION 2

Which disaggregation methods are used for each of these measures: adjusted shipments forecast, target service level,
and shipments forecast? 

A. Adjusted shipments forecast uses measure, target service level uses same value, and shipments forecast uses self. 

B. Adjusted shipments forecast uses proportional, target service level uses same value, and shipments forecast uses
measure. 

C. Adjusted shipments forecast uses measure, target service level uses same value, and shipments forecast doesn\\'t
have any disaggregation method. 

D. Adjusted shipments forecast uses measure, target service level uses equal, and shipments forecast doesn\\'t have
any disaggregation method. 

E. Adjusted shipments forecast uses equal, target service level uses same value, and shipments forecast uses
measure. 

Correct Answer: A 

 

QUESTION 3

Which two statements are true about Planning Security? (Choose two.) 

A. If a plan is set up as private, there is no way to further limit what users see within the plan. 

B. If a plan is set up as public, there is a way to further limit what users see within the plan. 

C. Data access sets can be used to limit what a planner can see. based on Items, Organizations, Carriers, Suppliers,
and Customers. 
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D. A plan can be set up to be public or private. 

Correct Answer: CD 

 

QUESTION 4

Which is NOT a legitimate way to launch a plan? 

A. When editing plan options, click Save and Run. 

B. From Setup and Maintenance, in the Planning functional area, select a plan and click the Run icon. 

C. Launch via a scheduled process. 

D. From Manage Plans, select a plan in the search results, and select Run Plan from the Actions menu. 

Correct Answer: B 

 

QUESTION 5

In which situation would Bills of Distribution be more effective than Sourcing Rules? 

A. When Organization A, Organization B, and Organization C make their own products 

B. When Organization A buys from a Supplier; Organization B transfers from Organization A, and Organization C
transfers from Organization B 

C. When all organizations transfer 50% of the material from Organization B, and 50% from Organization C 

D. When all organizations are buying from a single outside supplier 

E. When Organization A, Organization B, and Organization C transfer from Organization C 

Correct Answer: B 
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